Lower Tilt Assembly

Seat Frame Shown
for Reference Only

<t—— Lower Frame Shown
for Reference Only




Lower Tilt Assembly

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1-13 440140 Kit, Gas Strut and Hardware -- 1
1 1082422 Strut, Gas, Black 1 -
2 440145 Spring, Elastomer 1 --
3 361572 Locknut, Steel Zinc (M10 x 1) 1 --
4 TRA432 Activator, Strut 1 --
5 1132396 Spacer, Clear (13/32 x 1/2 x 27/32") 1 --
6 360114 Screw, Shoulder Hex Socket (5/16 x 1-1/4") 1 --
7 1025195 Locknut (1/4-20) 1 -
8 319476 Washer 1 --
9 360135 Screw, Shoulder Hex Socket (3/8 x 1-1/2") 1 --
10 1026158 Locknut (5/16-18) 1 -
11 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 -
12 R2759 Locknut, Steel Zinc (M6) 2 -
13 440152 Spacer, Gas Strut (7/16 x 1/2 x 1-15/16") 2 --




